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% 4-8 Indirect observations

clear all
clc

% Model Parameters
n-no;

no;
r+u;

Observations
Lo = zeros(n, 1),
Lo(1) 12

Lo(2)
Lo(3)
Lo(4)
Lo(5)
L = Lo}

11.740;
24.101;
8.150;

32.296;

nnuwun

% initial value for unknown Parameters
Xo = zeros(u,1l);

Xo(1l) = 204.706; % parameter A
Xo(2) = 180.580; % parameter C
Xo(3) = 172.430; % parameter D
X = Xo;

% Cofactor & weight Matrix

Q = diag([18 12 20 8 221);;
W =1inv(Q);
% initializing values
vV = zeros(n,lg;
A = X(1); % parameter A
C = X(2); % parameter C
D = X(3); % parameter D
B = zeros(c,u);
B=[-100;
0. 1:0;
-11 0;
0-11
-10 1],

% Compute a new F for each iteration
F = zeros(c,1);

L(1)-A+192.320;
L(2)+C-192.320;

L(3)-A+C;

L(4)-C+D;

L(5)-A+D;

east Squares Equations
-F+v;

B'*W¥*B;

B'*w*f;

nur

updating the parameters and observations
e = inv(N)*t;

f-B*de;

X+de;

LO+V;

3

Q-B*inv(N)*B"';
Q-Qvv;
fprintf('\nAdjusted Observations:\n')
for i=1:n
fprintf('Lsd\t= %12.7F\n",i,L(i));

end
fprintf('\nAdjusted Parameters:\n')
for i=}l:u

fprintf( XGd)\t= %12.7F\n",1,X({));

DL rxXx<oxR mtZ-hR
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end

Qvv
Q11

Ad]usted Observations:

= 12.3830000
L2 = 11.7380000
L3 = 24.1210000
L4 = 8.1566667
L5 = 32.2776667

Adjusted Parameters:

X(1) = 204.7030000
X(2) = 180.5820000
X(3) = 172.4253333
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% 4-11 observations only

clear all
clc

% Mode1 Parameters

fnitializin

. ’

24. 101

Cofactor & wei
diag([18 12
inv(Q;

ght Matrix
08 221);

values

zeros(n,1);

Create a new A matrix for each iteration

A= zeros(c n);
A=[11-= s
00 1 1 -1],
% compute a new F for each iteration

F = zeros(c,1);
-F(1 L(1)+L(2) LGE3);
F(2 L(3)-L(5)+L(4);

% Least squares Equations
f = -F+A*v;

inv(A*Q*A');

Q*A' *We*T;

Lo+V;

we
v
i

% standard deviation of estimated observation
Q*A' *We*A*Q;
Q11 Q-Qvv;

D

fprintf( \nAdjusted Observations:\n')

for

fprintf( L%d\t= %12 .70\n" , 1 LD

4 end

Adjusted observations:

L1 = 12.3830000

L2 = 11.7380000

L3 = 24.1210000

L4 =  8.1566667

L5 = 322776667

wWe =
0.0238  0.0095
0.0035  0.0238
Qw =
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